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5.

CANDIDATES MUST READ ;THE FOLLOWING INFORMATIONIINSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.

. All questions are compulsory and carry equal marks.
2,

All the candidates must return the question booklet as well as OMR Answer-Sheet to the
Invigilator concerned before leaving the Examination Hall, failing which a case of use of
unfair-means/misbehaviour will be registered against him/her, in addition to lodging of an
FiR with the police. Further the answer-sheet of such a candidate will not be evaluated.

. In case there is any discrepancy in any question(s) in the Question Booklet, the same may

be brought to the notice of the Controller of Examinations in writing within two hours after
the test is over. No such complaint(s) will be entertained thereafter.

_ The candidate must not do any rough work or wtiting in the OMR Answer-Sheet. Rough

work, if any, may be done in the question booklet itself. Answers Should Not be ticked in the
question booklet. .

Use black or blue ball point pen ohly in the OMR Answer-Sheet.

6. For each correct answer, the candidate will gét full credit. Cutting, erasing, overwriting and

7

more than one answer in OMR Answer-Sheet will be treated as incorrect answer. There will
be No Negative marking. : o

. Before answering the questions, the candidates should ensure that they have been suﬁplied_

correct and complete booklet. Complaints, if any, regarding misprinting etc.. will not be

- entertained 30 minutes after starting of the examinagop. A .
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1. The formula "vn =(1.96 S.D.) + Precision" is for finding out :

(1) statistical truth  (2) maximum samples number
(3) minimum sample size (4) standard error of standard deviation
A “Vn =(1.96 5.D)) + G B 2, £ H ¥ B v Frare @ R
(1) wiReaT ggar () T P e e -
(3) TN BT AAH AHR (4) wETI-fraers @ Y-
2. Which one of the following is correct ? " _ - |

' (1)° When the statistical error arises due. to smallness of the sample selected, then that
is known as error of inadequacy

(2) Small-error is sample format |
(3) Small-error of sample format is always significant
(4) Absolute error should never be taken care of.

fr i3 e die e ?

(1)mﬂmﬁﬂ§%mamaﬁ$waﬁﬁé ﬁwmaﬁgﬁ$m#
51 i

(2) SR wiied wife Bl &
(3) vt wrfe @ BId-Ffe e wewys B]l B
(4) ﬁ?ﬁagﬁmmﬁiﬁ%ﬁﬁﬁmﬂ%ﬁ

3. Whlch one of the followmg is the p051t10nal average ?

(1) Moving Average ' (2) Harmonic Means.
(3)- Progressive Average (4) "Mode (or Z)

P § & Bi-a ol Rerd 2 2 S
(1) vai® o | (2) weE s

(3) T SR @) T (W aEE)

4. The second moment of dispersion is also called :

(1) variation _ (2) variance

{3) modulus | ' (4) kurtosis

fosavra &1 gavr-gyt FEemd B -
(1) frarer & o ) o f

(3) WS & | (4) ¥ (Faamn) @

MPHDURS-EE-2013/Commerce/(C) | . P.T.O.




5. Which one of the following describes the shape of the distribution ?

(1) Geometric mean (2) Range
(3) Median (4) Skewness
=1 BT fIawwr @ Wy &1 9o PR & 7
(1) =t sirag | (2) frar
(3) mTE - (4) fawwaT
6. (1-r%)++/N indicates:
(1) Probable error of r’ (2) Trend of 'r’
(3) Sheppard's correction for ‘7’ (4) Standard error of v’
(1-r2)+ YN samr &
(1) v’ @ gwRa-gRe : (2) 7 B IRy
(3) v’ @ A IuE M wyfy @) ‘v ® yEfa-gR
7. Inregression analysis the variable to be predicted is called :
(1) Independent variable (2) Dependent variable
(3) Predictive measure _ (4) Regressional attribute
Ty favereor & forg =r ) @ &1 Tseed e o 8, S wed €
(1) @a= ;W : (2) =3 ==
(3) wls®erfa |y (4) WA T

8. In how many ways can the letters BASKET be arranged ?
(1) 720 ways (2) 6C, ways (3) 36 ways (4) 1760 ways
BASKET & avt %1 frar adiept & safRers fsam o s & 2
(1) 720 BT A (2) 6C, TNH | (3) 36 a0 A (4) 1760 Tt &

9. The reciprocal of standard-error is a measure of :

- (1) precision of the sample (2) confidence level
(3) confidence interval (4) | error-proportion
yaTa-Ffe BT IoeT (| 1+ S.E) A B # |
(1) wfdeet 2 gewar 1 | (2) fRreaq R &

(3) g™ s=) @1 (4) Ffe-srqura &1
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10. Formula: ¢t = [(ﬁ ) U T () oo and the formula Z=(x-p) + o
is for .......... S . : _ :
Which one of the following will complete the blank spaces carrectly ?
(1 D1fference~test and 'normal-variate’ respectively
| (2) 'D. Fisher's-test' and ' p-test’ respectively
(3) 'Test for number' and 'o-test' respectively
(4) 'Difference- test’and ’ mean-test respectlvely

Qﬁt_[(d 0)+ SVN oo a%%u%aﬂwﬁz (K= 1) + O oo B TG
' ﬁﬁrﬁﬁaﬁ?wwmaﬁwﬁm?

1) IR-e oR wmre-fER mae

2) So R T St qUT I FAT-

(3) HEuwRll & fod o Ul YHN-ERE HE:

(4) IRR-TXT qA AR FH |

11. The managerial task of strategy implementation rests o_h :
(1) Analysis and discussion
(2) Action and doing
(3) Ahalys-is and control _
(4) Participation and objectives of managerial authorities -
ISP S FRTET 3 g B B T8 S ol g 2
(1) faversor vq fges w
(2) T v BRIFET T
(3) fawermor vd gt v
(@) e SfrERar & qried d ITeE W

12. Strategy by itself does not lead to :

(1) structure , (2) plans

(3) action ' : (4) appropriation
gghell WY 78T I o .

(1) 3R B R | (2) o @ o
3) sREd & Ry - (4) 7= B ford

MPHDURS-EE-2013/Commerce/(C) - P.T.O.
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13. A control exercised with the help of contingency strategy and maintaining crisis
management team come under :

(1) Special control alert

(2) Special control strategy and alert matrix
(3) Pareto Law ' |

(4) Graicunas' Law

mﬁmﬁmﬁﬁmmmmmmaﬁmmm
e e € 7

(1) faom e woem &
(2)-WWWWWW$ .
3) WY e B

(4) 3T FEm B

14. The application of the strategy commits an organisation to predetermined :

(1) Course of principles (2) Course of future action

(3) Course of policy framework (4) Course of scientific methods
FEPIE B T TF WIGT BT qo79E et 8, Teel § Feifa

(1) Rigri & gRea & ol ) e & Rere ad @ gRy

(3) Sy & faor @ ufe (4) faerim faftet @ e & gfd

15. Something that articulates a position that a firm would like to attain in the distant
 future is known as : : '

(1) Strategy position (2) Vision
(3) Stretch {4) Leverage

-@ﬂmw@ﬁuﬁmmm%%ﬁwﬁmqﬁmﬂﬁmm'_

oTEd ¥, I AT A @

(1) g Ref g (2) = gwT

(3) d91@ gWT (4) ST gRT
MPHDURS-EE-2013/Commerce/(C)
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16.

17.

18.

Which one of the theory of strategic management uses the mathematical models to
interpret the process of non—hnear and dynamic system ? Select from the following
choices :

(1) Lev1s Theory of Strategy Formulation
(2) Cart-on's Theory of Systems

(3) SBU-Theory of Systems

(4) Chaos Theory of Strategic Managemient

g@ﬁﬁémmtﬁaﬂ?ﬁﬁmmﬂﬁmwmmaﬁmwm
mﬁﬁmmzﬁmmm%?ﬁm#ﬁgﬁm

(1) geeree faf &1 o frgra g™

(2) FET D yomeh & R gN _,;
(3) Wo‘e‘ﬁozp fagr= (gomen) g

(4) FEDIA yAH FT srgaen g gRy

Organisational resources plus organisational behaviour create :
(1) strengths and weakness within the internal environment
(2) design '

(3) matrix-system

(4) SWOT-configuration

(1) TR aremaRer § awary vd Faenfaf

@) gar
'~ (3) - woTel-war

(4) ﬁhe-awﬁ |

Which one of the following is not the reason for adopting different stability
strategies ? _ g

(1) the environment faced by the corporate unit is relatively stable

(2} the environment is changing every time:

(3) stable strategies themselves |

(4) workers participation

MPHDURS-EE-2013/Commerce/(C) | P.T.O.




 Prer § @ e R Rerar @ A gg Sreert o w1 a# e v
(1)Wmmmmmmw$amwaﬁ$w
~(2) TAXITERYT FHN T TEA 8

(3) ReR g Prererm evFY o A

(@) HfBT B e |

19. A cooperation between two or more independent firms involving shared control and
continuing contributions by departments for mutual benefits is known as :

(1) strategic takeovers ' (2) a strategic joint venture

(3) astrategic alliance (4) astrategic syndicate -

AW F Y ANF sl v B Wy TR BEl @ o wmEn-faee @ i
sfee Y |fnfa o= o AgdN GEIRT 8 B, 99 A1 o B

(1) FmMifoies Hewa B gega (2) to AFRS AT &1 HYeri-AEd
(3) tw "rl® a5 # |fy (4) T wMRe Agwa &1 gadg |y
20. In terms of the market, 'focus business strategies’ are :
(1) central strategies (2) reliable strategies
(3) business improving plans (4) niche strategies
IR TR g s gg-afadl g 8 0
(1) d=a ggfot (2) G gt
(3) =EETg GURA B AN (4) e ggnferat
21. 'The Revealed Preference Theory' of consumer behaviour was proposed by :
(1) D. Ricardo (1947) (2) J. M. Keynes (1495)
(3) P.T. Elsworth {1947) (4) Samuelson (1947)
SUFA-HEER & ‘STENfed-Aeme g &1 u¥arg &
(1) o Raret 7 (1947) 4 (2) Fo THo B A (1495) H
(3) dio o Towadt ¥ (1947) # (4) SRIUeHT 7 (1947) ¥

22. Below are the statements :
a. Simultaneous multiplier is also called ¢ gical-muliiplier’,
b. Marginal efficiency of capital is also called 'internal rate of project'.
¢. GDP = GNP - Net agriculture income. '
In these statements :
(1) only 'a'is correct - (2) 'a’, and b’ are correct, 'c' is wrong
(3) 'a, b’ and 'c' are correct (4) 'a’, b'and 'c’ all are wrong

MPHDURS-EE-2013/Commerce/{C)




3. wzmmgvmi AMBH-TorE ff wEarar 2 | | e
9 ﬁaﬁﬁmﬁwmaﬁmﬂﬁmﬁ%‘l
9. wodledlo = SlogTotlo — & F ama |

ey

3 wEHeEl H . |
(1) a9 & S5 & : Q) e aa;"';é{f-'aﬁm g | e &
@) W, T W A e W e e A Y
23. Harod-Domar assumed that sociéty saves a constant proportion of the :
(1) personal income () natiqhal income |
{(3) increased income L (4) 'soc.}"él income
%ﬁ@@ﬂ?ﬁmﬁaﬂﬁawm%wﬁmaﬂm
(1) a:rf%lﬂwamzm I(2)§|1§£Wemav‘r
(3) 941 g3 ™ F . (4)7.-wr%rcﬁ_am Bl
24, Flghtmg with depresswn would require a ... ) F—— and controlling the
.......... (ii).......... requires surplus budgeting. :

Which one of the following combinations would complete the statement éprrectly [4
(1) deficiency target at (i) and deﬁciehcy'at (ii) |
(2) deficit budgetmg in (i) and mﬂatlon m (11)
(3 fiscal-discipline in (i) and mﬂatlon in. (11)
(4) fiscal-budgeting in (i) and inflation in (ii)

T D AT TS B TR ioreei)orrrn, aﬁwsﬁ’f%sﬁ? o (i), BT FREIOT
ﬁwﬁaﬁ%—rﬁaﬁéﬁ&mﬁnaﬁwaﬁﬁ%l ' '

i § & P Rwsn T w31 w&ﬁ.ﬁﬂ’wﬁ?
(1) smma-wed (i) o TR_gT A (id) #
(2) T FSTE (i) ¥ o qERHR (i)
- (3) ORG-SR (i) W AT I (i) H
(&) ORI (1) ¥ T AR () §

MPHDURS-EE-2013/Commerce/(C) - _ ' - : P.T.O.




25 R1card1an Theory of International Trade suggests one of the following for gainful -
trade between two countries :
(1) A Theory of Absolute Advantage (2) A Theory of Factor Endowment

(3) A Theory of Comparative Advantage (4) P.P.P. Theory - - !
ﬁmﬁmwﬁsﬁmw%ﬁwﬁ@wwﬁ%aﬁﬂ@ﬁwww

® fod BT &
(1) Pl wmR e g (2) et B @l PR Rigr
(3)@%%@%%@% (4) o Ho Po fgra

26. Who does work as the 'custodian’ of the foreign exchange of a nation ?
(1) The Federal Bank
(2) The Cartels of the Banks
(3) The Syndication Foreign Exchange Markets

¢ (4) The Central Bank of the concerned Nation

g @ faed-Rftrm 3 oRes $mﬁaﬁf{mm%?
1) v §& | ST
(2) 99t B TE _
(3) faash fafra st @1 Rifdwm o ‘
(4) wEfyg g T P §F

27. The Theories of early business cycles theorists are jointly known as :
(1) Monetary Theory of Business Cycles
(2) Fluctuating Theory of Business Cycles
-(3) Ohilin's Theory
(4) Carlyle Theory of Business Cycles
yRfe wEag-aw @ Rigraent @ Rigra w9 w9 @ 9 9§
(1) =eEE gl @) Afes O & W A
(2) UIER Tei B GAE A B AR A
(3) SRR R & 7 9
(4) =IET TF P PR A B AW A ‘ i

28. National Income = Rent + Wages + Interest Plus : | v
(1) Foreign Exchange Surplus (2) Foreign Income |
(3) Labour Surplus - ” (4) Profit !
T o = FRRTET + FOTGd + TS qE o 1
(1) fae<h fafwg & T2« (2) faedh amg |
(3) IR e (4) <

MPHDURS-EE-2013/Commerce/(C)




C

29.

- 30.

31.

32.

G w:ﬂﬂar%rﬁ

The process of strategic choice is essentially a: _
(D) decision-making process : (2) choice of objectives
(3) strategy implementation (4) process of strategy intent
ga-ﬁmﬁw_a%gﬁﬁmmwﬁ%:
(1) fota ot 2 wfp (@) s B g
(3) 'g@-ﬁm'zﬁ‘r Cukaull (4) g@-ﬁwﬂﬁwzﬁ‘ﬁaﬁqﬁm
The Boston Consultancy Group gave an array of elements in rows and columns and
cells. Each cell represents a particular type of : '
(1) Organisational design (2) Performance level
(3) Developed-areas (4) Business

WW@#@WW—WW,WHmWﬁﬁmxwﬁW

(2) frepred @R B
(3) S=a-aEl B (4) TaEd B

"Future economic benefit is the essence of o2 v, and the liabilities are measured in
conforming with the ... I : ’
Which one of the following will correctly complete the statement ?

(1) at'a’ machine, at b’ value (2) assetin ‘a' and cost—princ‘:iple in'b’
(3) revenue at 'a’ and cost at'd’ - (4) revenue at 'a' and cost incurred at 'b’

e SHTH-A s e PT R 3 oiR aftedl B AT o ... & e fe
ST B _ _
ﬁﬁﬁ@ﬁﬂ-ﬁmﬁmﬁaﬁmﬁ%%ﬁaﬁ%?’

(1) ‘o # whE T ¥ ., | @) ‘o & ", T 3§ wrma-fagra

(3) ‘& ¥ AT, T ama ) (@) & ¥ T, g ¥ @TTa SOt

n analysing a company's financial statements which one would a potential investor
primarily use to assess the company's liquidity and financial flexibility ?

(1) Balance-Sheet (@) Income Statement
(3) Statement of Retained Earnings - (4) Fund Flow Statements

@memﬁﬁmmwmmmwm@w

%zﬁlﬁ-ﬁf&ﬁﬂ-ﬁﬂmiﬂmm?

_ MPHDURS-EE-2013lCommercel(C) ' , ' P.T.O."
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33.

34,

35.

Which one of the following is trye about Interim-Financia] Reporting ?
(1) Itis covered by SEBI guidelines and the AS-25
(2) Itis covered by SEB] guidelines and the AS-17

- (3) Ttis covered by AS-1

(4) Itis covered by AS-25 and AS-28

| aﬁﬁqﬁﬁ%ﬁ@ﬁu}?ﬁaﬁ#ﬁwﬁaﬁw—?ﬁwwm%?

(1) agﬁé?—qﬂfaﬁmﬁamvw-%%mmﬁaagﬁﬂ%
(2) ﬁgﬁﬁ-?ﬁﬁfw@mvw-l7$mmﬁaﬁﬁﬁ%
(3) angqa%a’mmﬁ@ﬁg‘r?ﬁ%

(@) TE T TH-25 9o ¥ ueg08 a%,mwaﬁaasﬁfﬂ%‘

When computing purchasing power gain or loss on net-monetary items, which of the
following items is classifield as non-monetary ?

(1) Advances to unconsolidated subsidiary
(2) Advances for allowances

(3) Unamortized Premium on bonds payable
(4) Accumulated depreciation on equipment

mga-mmwmwﬁaammmﬁaﬁmaﬁmaamwwaﬁwma
T ST 2 oy 2 o |

() STt 3 sy

) I B afirm

(3) % Foe W araReR ey

(4) 3R W FHhmr am

Lee Seidler's income-statement jg associated with :

(1) Human Resource Account (2) Human Resource Statement

(3) Human Resource Model o (4) Social Accounting and Reporting
MW &7 amr-Rraxor g @ |

(1) Aro-amm 3 ary @ (2) T o @

(3) ArFE-NRE At @ | \(4)mn%ras,5‘rafa)—rrmnﬁq‘ﬂ%‘nﬁ

MPH DURS—EE-2013/Commercef(C)
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36. How many major determinants of the human resources are there according to Organ ?
(1) 7 (seven) (2) 8 (eight) (3) 9 (nine) - (4) 10 (ten)
ST & SFTAR AT B PR T e w9 W ey § 7 |
(1) ¥ (7) (2) o3 (8) 3) ) (4) =8 (10)
37. Broadly speaking, the managerial economics is :
(1) micro economics (2) applied economics
(3) price theory (4) a trade economics
AT HUT YRR, WaHahrg S1feme 8 ¢ - |
(1) ge-gedares I ) mﬁﬁmﬁw
(3) Fra-Rigr o . (4) TF WUR BT sl

38. The central theme of the consumption theory is :
(1) Unhty maximizing behaviour of consumer
(2) Utility function
(3) The study of 1nd1fferent behaviour
(4) Hibdon's price-mechanism of firms

SUHIT-RIGTT &7 dilg-Ryg g &«
(1) mmmmmmw
(2) FeTorerE

(3) TCTRI-HGER 6T T
4) ReEw &1 Fug-a= w0t @t

39. The mathemiatical presentation of the input-output relatlonshlp is the presentation of :

(1) Rational Production = - - (2) Rational Productivity

(3) Production Function (4) Performance-Index

fFrae-saEs & T o TR ua»—a-cﬁw g

(1) fadeder ST @ | (2) ﬁﬂm&ﬁamﬁﬁﬁww

(3) SETEA-HH @1 | (4) Frars-sfrggs @
40. (Price - Margmal C()st) Price, 1nchcates

(1) status of competition (2) oligopoly

(3) imperfect competition (4) monopoly power

(@ — A amTe) + W, 0 B © _

(1) ufrafrar & Refy @ (2) srequfrafiraT &1

(3) srqof wRfrET B @) veReR i w@

MPHDURS-EE-2013/Commerce/(C) o | o ; P.T.O.
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41. Shares issued to debentureholders of Rs. 10,000 at par, and the short-term loan was

given back of Rs. 60,000 . What was the effect of these two transactions on fund
flows ? ' ' '

(1) The flows will decrease by Rs. 70,000

(2) The flows will be affected by Rs. 50,000

(3) There will be no effect on working capital and funds

(4) Funds will increase by Rs. 70,000 .
FOTSRE! B a¥ i Fed W A Y 10,000 $o F, R 60,000 To B T B
FOT gOTT T | A -aAT BT BUST & YATE W TN P FAT P

(1) waTe 70,000 $o & F¥ eh

(2) FaTE 50,000 To F wuiA EF

(3) w@ﬁwwﬁ-wﬁéwﬁm

(4) ®wUs 70,000 To TN

42. If the capacity usage ratio of a production department is 90% and activity ratio is 99%, -
the efficiency ratio of the department will be : 1

(1) 120% @) 11% @) 9% (4) 110%

@ Sre P @1 s S 90 wfw ¥ den wikan orgui 99% & W W
FaWTT BT STRAeTeCIT IO BN - o

(1) 120% 2 11% (3) 99% @) 110%

43. When the'sales increased from Rs. 40,000 to Rs. 60,000, then profit increased by
Rs. 5,000. On the basis of it the P/V ratiois :

(1) 20% (2) 25% (3) 50% @) 15%

/@ T 40,000 To A TEH 60,000 To §, T @M 5000 Fo F FGT| TH FER W
I /AT 3T R

(1) 20% (2) 25% (3) 50% @) 15%

44. Under a concept of accounting a business should provide all relevant information to o
- external users for the purpose of sound economic decisions. That concept is :

- {1) Full-Disclosure (2) True and fair annual report : )

(3) Economic interest of stakeholders (4) Standardized report ' ‘

é@iﬁﬂaﬁmﬁm%mﬁwmﬁ@mﬁmﬂ%ﬁﬁwm'm |

3 3 Sieg QN STA GEAR e s AR | A8 e el | |

(1) qof-uwdraxer H Q) wu T we aiffe Rue 3

(3) siwenfal @ onffs o &1 - (@) v RAe #
MFHDURS-EE-2013/Commerce/(C) |




45.

46.

a7.

48.
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Positive methodology of accounting theory is also called :

| (1) Normative methodology (2) Predictive methodology
(3} Descriptive methodology (4) Prescription-approach
G RIgT & WHRS yoe RS @) Per s & -
(1) srreeff yomeh fasm o _ () WP I womeh e @

(3) TS o gomeh R (4) FuRo-afpm &

The process of reportmg an item in the financial statements of an entity is :

(1) Allocation (2) Matching (3) Posting (4) Recognition
Wﬂﬁﬁw@$ﬁfﬂaﬁa@ﬁﬁﬁ@ﬁ$maﬁwﬁé

(1) JmEes (2) PEF #= (3) e (4) afism
Three combinations are given :

a. Expenses :  Efforts

b. Revenue : Nolaccom'plishmént

c. Expenses :  Expired costs

Which one of the following is correct about these combinations ?

(1) 'a','b'and '¢' all are correct ' (2) 'a'and b’ are true and 'c’is wrong
(3) 'a, and '¢ are correct, b' is wrong (4) only 'c’ is correct

T HAT Ry Ty E

@) @d T |

(@) o™ o PregTaer 7

@) = ;R

P 3 & P 9@ 5 e S AR e R

), T AT e L@ W T T w9 e W T

@) o W W EENR T TE (@) I w R

A principle objection to the straight line method of depreciation is that it ignores-
variations in the rate of :

(1) inflation (2) .interests

3) ésséts—use S (4) assets demolition

| W%Wﬂ%ﬁmwﬁmmﬁwaﬁ%%wﬁ@ﬁwﬁﬁﬁ%ﬁw#

R o e @t 2
1) ERHR = H | () @ w2 A -
(3) wR™ @ yanT aX &) ~ - (4) TuRET B gEfgever &)

MPHDURS-EE-2013/Commerce/(C) | | | . PBT.O.
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49. Accounting standard-6 (Revised) deals with :
(1) Depreciation Charges '
(2) Depr’eciation‘Accounting
| (3) Depreciation Measurement and Concepts
(4) Depreciation Charges by Rails
AP TAI-6 (i) Tl @
(1) T THRT § N
(2) EE-oEHA ¥
(3) 9 & A7 Td gRON |
(4) Y BT T TR W

50. Generally which inventory cost method approx1mates most closely the current cost

for each of the following ? .
" Cost of goods sold Ending Invento
LIFO * FIFO
b. LIFO LIFO
c. FIFO | FIFO
d. FIFO | LIFO
(1) only 'b'is correct (2) only 'a'is cofrect
(3) 'a’ and 'b’ both are correct (4) all are correct
quwﬁ%ﬁmﬁwﬁﬁﬁa—wwﬂwwﬁﬁﬁwa%%ﬁeﬁﬁ%?
(o) formr | by 't
(@) foren forer 3'
(&) fowr Ry
(@) fomr - o
(1) dam < T (@ damw Ed
(3) ‘o ok @ FE T 4) W w& §

MPHDURS-EE-2013/Commerce/(C)
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51. "The function of management accounting is to provzde data and not the ................ :
What will come at blank space ?

(1) decision (2) costs . (3) analysis 4) liquidify
AR o1 o & S SET B A o L I

Rewr e R e amrm 2 | |

(1) faoka - (2) =T (3) ﬁsam (4) T
52. Budgets are the comprehenswe plans of :

(1) estimation : (2) action

(3) budgetary variances (4) organising

(1) AT &t . (2) Fdard &

(3) %TE B qESrEi W (4) TSGR B

53. Which one of the following is correct ?
(1) Budgeted Sales —Standard Sales = Value Varjance
(2) Budgeted Overheads - Actual Overneads = Volume Variance
(3) Budgeted Overheads + Budgeted Output = Budgeted Ratio
(4) Actual Cost = Standard Cost - Labour Cost Varlance-
fres 3 & P i & 2 |
(1) FoEr fsa — wAr R = F f%wrl?f
(2) ¥oER T - aRafds & = 7= Ry
(3) ToErY Y + gUEIY SEH = GV I
(4) IRARF ST = FHIY AT ~ 57 I AR

54. Here are three equations :
a. Change in Profit + Change in Sales =P/V Ratio
b. Variable Cost = Cost of the items
c. Fixed Cost + Cost per Unit = B.E.P.
- Now which one of the following is true about these equations ?
(1) Only 'c'is correct (2) Only 'b' is correct
(3) Only 'a’is correct | 4) All the three are correct “
MPHDURS-EE-2013/Commerce/(C) P.T.O.




aﬁ R A wdER §
(&) ar ¥ e + g § ol = m/wa@m
@) uReddia arrd = 95 A 9
(ﬂ)'wrzﬁ ST - oy THE o = fododlo
= & B A A P QP w2
(1) P wd B 2) daat ‘@ wd ¥
(3) B9 ‘7 W & (4) =7 & &
85, Current Ratio = 2 : 1, working capital = Rs. 50,000. What will be the value of current
' liabilities ? _
(1) Rs.25000  (2) Rs.1,00,000  (3) Rs.50,000 (4) Rs.13,333
e A =2 : 1, wve Yot = 50,000 To | =T =iyl A il fhae Bl ? |
(1)} 25,000 Bo (2) 1,00,000 vo (3) 50,000 %e (4) 13,333 %0

56 The Lease rentals paid by the lessee are : ' -
1 legal aspects of the contract
(2) less important contents
(3) the tax-deductible expenses for the lessee

4) non-tax-shield items under the lease-contract

g g 2 R ug-fRe e €

(1) 3es B LT wEGge ¥ IS

(2) FH-AETE B I

(3) T2 BRI IR-HTE WY

(@) a1 TR-2Ta AN AL Ugi-aTEE B IR

57. Ratios calculated from the financial statements play triple rate in an enterpnse—
historical, contemporal and :

(1) astrological (2) financial display
(3) astronomical (4) logical
s 9Em § Rde-fat ¥ P W sl w1 Bude dvee g @~ gfEw
TEfE, aHame AR
(1) saferdrg 2) gy
| @) @nda () T
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Net Profit Margin is calculated with the help of :

(1) Earnings after tax + Sales (2) ' Earning before tax + Sales

(3) Earning after tax + Gross revenue (4) Earning before tax + Net revenue
g@'—m@maﬁmﬁwﬁﬁmﬁmﬁaﬁm%? |
(1) FR-wEI IS + fampd L TR ol + famd

(3) FR-gTAR o + FHe-HIf (4) TGS I + FE-II

Net Profit = Rs. 16,000 (as per P & L A/c); Provision for Bad Debts = Rs. 5,000;
Depreciation = Rs. 15,000; Proposed dividend entered in P & L A/c = Rs. 10,000;
Provision for taxes = Rs. 2,500; Preliminary expenses = Rs. 1,500; Proﬁt on sale of
machine = Rs. 13,000. _ _

The Cash-flow from operating activity will be: |

(1) Rs. 37,000 (2) Rs. 50,000 (3) Rs. 33,500 (4) Rs.31,000

g% @™ = 16,000 To (@m-ETf EAER); gga R BT U = 5,000 %o; B =15,000
To: AP-EIR @i § forar gon wwfdd i = 10,000 $o; P PE AT = 2,500 %o;
R @ = 1,500 Fo; FEA & fampa W m = 13,000 Fo | ;.
gRerer Rl § HE-HATE B0 :

(1) 37,000 Bo (2) 50,000 %o (3) 33,500 %o (4) 31,000 %o

An analysis consisting of a study of the behaviour of each of the items in the financial
statements is called : _ : : ‘

(1) Stewards analysis : (2) Event analysis

(3) Inductive analysis (4) Horizontal analysis
Wﬁwﬁ%ﬁmm%w%mmmmwﬁﬁwm%;
(1) vereres fagersor - (2) s favemey -
(3) W& faweror - (4) e fagerson

RAID stands for :

(1) ‘Reproduce Array of Inexpensive Drives

(2) Reproduce Array of Intelligent Disks

(3) Redundant Array of Inexpensive Disks

(4) Redundant Array of Inexpensive Drives
3TRo To 3MEo Slo HF BN € : |
(1) RereE W 3 FIeEiiG seaw @
) Rirega W i s Rvaa @ fad

(3) Re== W% geaifT fwed & ol
(4) Remme W oift FvaRmifa seae & ford

MPHDURS-EE-2013/Commerce/(C) : | P.T.O.
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62. Light pen is frequently used in :
| (1) A computer aided design (2) Word Processing
(3) Presentation : (4) Spread sheet
AT OF oErER WA A Ry e &
(1) g w'rar na g § (2) w1g gHHo #
(3) wERRfrHwor § (4) Brs T ¥

.83. To interconnect two homogeneous WANS, we need :
(1) abridge . (2) agateway (3) arouter (4) ahub
< WA WANS B SS9 & o & et e # - -
M @HEIH 2 BIAA 3 weR®H @) @D

64. Which one of the following techniques is the best suited for bank cheques ? .
(1) OCR (2) OMR (3) BAR (4) MICR |
%ﬁaﬁ%ﬁﬂﬁwﬁﬁmﬁ-ﬁmmﬁmmﬁm@?ﬁ%?

(1) aMoWoarmo (2) 3MNoTHoARo (3) ovoanmo (4) THodMSoH 0RO

65. Internetisa: _

(1) LAN (2) WAN

(3) MAN (4) Both LAN and MAN

FTETIE BT §

(1) TeoToyo (2) S=oToTHo

(3) THoToT+o {4) UcToToTdo Tofl YHoUoTHo BT

86. In which transmission rﬁode the flow of information is bidirectional at the same v
time ?- _ :
(1} In Half Duplex (2} InSimplex 5
(3) In Full Duplex : (4) In Liquid Window
TRV 3 {50 w0F ¥ e &1 vare v & w4 R-Remwe 2y 2 2
(1) w-@w?r Q) o |
3) R g § (4) ffiae et 4

MPHDURS-EE-2013/Commerce/(C)
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67. Which one of the following is the smallest memory size ?

(1) Terabyte (2) Gigabite (3) Kilobyte ~ (4) Megabyte
P 3 @ wad B A WES B e E 7 |
(1) eXmEEe (2) fimatge (3) freimme (4) ¥mETSE
68. LCDstands for : | |
(1) Liquid Colour Display. (2) Light Colour Display
'(3) Lithium Crystal Display (4) Liquid Crystal Display
quﬂo@romaﬁm'@': | “ |
() frfis wor et & Rl (@ e won Re 3 R | o
o) o e B B R (@) s B R B R |

69. Computer network which spané over a large geographical area is :

(1) LAN (9 VAN  (3) WAN " (4) MAN
o Gy YeaE o T a3 Aifrs A e g 8, a€ e E
(1) TeogoTdo  (2) WoToTT ) es-oqotfowo' (4) THoToTT

70. How can you create a uniform appearance by adding background image to all shdes ?
{1) by creating a template
(2) by editing the slide master

(3) by using the auto correct wizard’

(4) by editing and creating all of the above
wﬁwmﬁwwﬁ%gmﬁmwﬁﬁwﬁﬁmﬂﬁ%‘?
(1) E9eic ROl & g

(2) TS AR B I ERT

(3) sifeT TRae e &1 Jan RS

(4) SUfa W B HHIEH wd WO B EN

MPHDURS—EE-2013ICommercel(C) | o | - P.T.O.
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71.

Which one of the following statement is correct ? |

(1) Behaviour is the function of people and environment

(2) Reinforcement approach to understand the leadership is a famous approach
(3) Role perception refers to occupancy and actual role behaviour

(4) Motivation is not necessary for job performance
ey 3 B wuw w2 2

(D) =EER A Td arenaRe @ G &

72.

73.

(2) #q&raﬁmﬁa#ﬁﬁﬁﬁmwww%w%
(3) ﬁﬁﬂ-ﬁuaﬁm'mmﬁﬁmmwmaﬁm%
4) sri-freres ¥ dRoT anavas A& @

‘Something that refers to attractiveness or intensity of desire for some expected

behavioural consequence, is called :

(1) Intrinsic behaviour (2) Valence

(3) Motive (4) Expectancy

P A N 7B WG @wER B RO B R s A 3w A TERE @ w
v € 99 wE E

(1) s TR (2) WSS

(3) wRom (4) weaTen

Which one of the followmg view was originally derived by analysing cntlcal

incidents written by 200 engineers and accountants ?
(1) Two-need view (2) Hygiene and behaviour view

(3) Theory of role and behaviour (4) Maslow's need hierarchy view

(2) wWres-fIsm e wger e _‘
(4) ¥ B ST A Ee AR

MPHDURS-EE-2013/Commerce/(C)




74. Affective, cognitive and conative are the three elements of :
(1) Perception (2) Behaviour "(3) Leadership {4) Attitude
WIaTeH®, AT oo fbagiie — 3 O o €

Q) WP (2) TEER B Q) qE D (4) wAgRT &
75. A belief of providing a general guidance system is called :

(1) Counselling : (2) Career development belief

(3) - Perception (4) Value

| HATEE ol & fER 3 wE S e

(1) A=om 2) smenfRa uﬂfc‘f IEEIN

(3) 3 (4) ST

76. Which one of the following combinations of approaches is the forerunner of modern
approaches to studying leadership ?

(1) Incredlblhty, Punitive, and Cognitive "

(2) Active greatmern, Personality-trait and Leader behaviour

(3) Active, Pro-active, and Reactive |

(4) Influence, Behaviour, and Contmgency 7
#rﬁﬁw@aﬁmwaﬁmﬁarmﬁqaaﬁmaﬁangﬁmmmw%?
(L) Y, Sed aen TS

(2) frardie wee =i, arﬁﬁc—q'ﬁmmamﬁmmw

(3) frardier, sroafesa aom uftfem

(4) UG, HAER aAT AHRAGAT

77. The 'Arc of Distortion' indicates the potén'tial inaccuracy of :

(1) Two-ways communication (2). One-way communication
(3) Formal communication | (4) Informal communication
fapfa & a0 wRe suRyea R 2 |

1) fB-mrt == 3 | (2) THE-HET TR H

(3) svaReE T &t  (4) sFERE TN B

MPHDURS-EE-2013/Commerce/(C) . P.T.O.




78. The number system on which modern computers operate is :

(1) Octal number system  (2) Hexadecimal number system
- (3) Binary number system o (4) Decimal number system
TR Ren fo R e Feger dorfera g0 & gg @ & -
(1) sremmd wen R (2) Sreamm we RiveH
(3) Rommd dem Rreew (4) TerTerT T Rived
79. A register that keeps track of next instruction to be executed is known as :
(1) an instruction register (2) a programme counter
(3) an accumulator . :(4) a data register
T AR W frefan €9 A anrer P @1 Rl v@ar 8, 99 o o #
(1) T e whmeR (2) TF UM FEER
(3) T s | ) T ST R
80. RAM is broadly categorized in: -
(1) SRAM, ERAM  (2) ERAM, VRAM
(3) VRAM, DRAM (4) DRAM, SRAM

R ¢ A P FRR ofrag fbar omar @ -

(1) THoHAROUoTHo TRl SodMoToTHo  (2) EodlRoToTHo Tl FodMRoYoTHo

(3) No3RoToTH TAT HodMRoYoTHo (4) So3MRoToTHo TNl THoINRoToTHoO
81.  Union-taxes have been laid down in the list of : | |

(1) The seventh schedule of the Constitution

(2) The eighth schedule of the Constitution

(3) Fiscal Policy |

(4) The guidelines of the Ministry of Finance .

| 7= feiRa 5 g #

(1) wfewma & awedl Rl #

(2) W % aedt WRe ¥

(3) roTey Ay § |
 (4) PR site wigAw @ Pl A
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82.

83.

84,

MSME stands for :. _
(1) Medium, Small and Middle Enterprises
(2) Micro Service Middlemen Entrepreneurs
(3) Managed Services of Ministry of Exports
(4) Micro, anall and Medium Enferprises

.Womowo‘éo ﬁﬁﬁ AfpapaR HE 7

(1) #ifezm, v U fAsa seEas

(2) R Hi feerm S2INR

(3) ﬁﬁﬂﬁ‘rﬁamﬁﬁf@wmﬁéﬂ
(4) =Ry, T U HifsEH gewmgerS

An industrial unit with the debt-equity ratio of 1 : 1 and with the cash-loss will be

“called :
. {1) sick unit - _ (2') weak unit
(3) cash-cow unit (4) care demanding unit

e s sHY e Fo-aadr U 1 : 1 ® 7 S9 Tee @ i & o 98
FEATI

(1) 4R 59 | @ TR TEE
(3) THE-TS FHIE | (4) ¥ HAT ATl 3T
EPCG stands for : |

(1) Environment Protection for Capital Goods
(2) Export Promotion of Capital Goods

(3) Export Promotion of Current Goods

(4) Environmeht Protfection of Core Group
éoﬁoﬁoﬁﬁoﬁﬂﬁﬂwaﬁﬁ%?

(1) vHari=ic gcwE Bk dited 89

(2) veaEE S sife dfied Tew

(3) U ARlE 3. BRe T
(4) THIERE YR i DR gu

MPHDURS-EE-2013/Commerce/(C) ~ PT.O.
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85. 'The eight round of Multilateral Trade Negotiations' is popuiarly known as :

{1) Dunkel Round (2) Doha Round

{3) Brettonwoods Round ' (4) Uruguway Round
FERNT IR WO BT ASd! AT W] ST W 8
(1) €@t artow & @) <1 ItaE @

(3) FeweSy aata® F |  (4) I watmE @

86. Which are the two major ideas running through the traditional approach of
"~ management ?

(1) Diagnose and Analysis

(2) Functions and Principles

(3) Management levels and Understanding

(4) Ménagemen-t dynamics and Performance

g H IRERE A F AR @ fer e B # ?
(1) fer v Rvewo

(2) #1 vd fagma

(3) 99 WR Ud "HHERI

(4) T fes od e

87. FW. Taylor and Henry Fayol were the two :
‘(1) management radicals of their time
(2) management experts of managerial leader, leadership and motivation
(3) organic management medalists
(4) critics of Lyndall Urwick
o TR TR AU TG Bavy A
(1) I F F o IT-GURAT o
(2) YIS A, A v wwon fadws o
(3) W W AR 9
(4) Rrers ST & T &
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88. Three statements are given :

a. When a firm sets a goal of Rs. 100 Crore sales, that goals serves as target.
b. m.b.o. is also known as work planning and review.
¢. Individual goal setting is also called management by understanding,. -
Which one of the following is c&rrect about these three statements ?

B | (1) All three are correct | (2) Only ‘a”and ‘b’ are incorrect

| (3) 'a' and 'b' are correct, 'c'is wrong . (4) Only 'b' is correct
b dmawmfami

3. mwmﬁloomma%ﬁmmmﬁa’rﬁﬁaﬂ?ﬁ% ?hageﬂua&a$mﬁ
BT BT & |

v a..‘moérosﬁoaﬁwrﬁmwmsﬁmm‘él
. wﬁwmmﬁwaﬁwmmﬁmw%l
g A o B AR P ¥ S e weE ?

(1) =i Bea S & | : (2) BacT ‘¥ qN Y TG ©
(3) 'a'w_'a'é’rcﬁ%“,wwaﬁ%‘ () o 7 8F 8 |
89. The primécy of planning is after used to con'vey. the : ....a".... of planning and

...... 'b'...... heads are better than one conveys the group decision-making.
Which one of thé following will 'correctly'fill in the blanks ?

- (1) premises at'a’, many at b’ (2) application at 'a’, intelligenbat b’
3) 'pérformance at 'a’, coope-rative at'b' (4) | irnportance at'a), fvvo at'd’

o Y Ao S S # e T &, A B o B AR H AR T
AT & 4§ o veq & garar & 9 FrofeE i o

forer & P @ v Y e o ?
(1) o T o T ) ST ‘o H, g 9 A
@) Freres o % weard ¥ A (4) wE W A AT H

MPHDURS-EE-2013/Commerce/(C) : . ‘ P.T.O.
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80. "A system that anticipates variations from the standards and take connective actio
before an error occurs”, is called : '
(1) Reactive control system (2) Closed control system
(3) Proactive control system (4) Open control system
T T S g & R @1 Qe o ok qer 3 8N R s & @ franer
(1) wfafsra fFra=or o= , (2) sraeg o= =
(3) gEfsaeer o o= (4) gen g 7=

91. One of the following methods of testing is used for testing the significance of
difference between the two correlation-coefficients :

(1) Propdrﬁon—test method (2) Z-transformation-test method
(3) Fisher's Z-test method (4) Furguson's-test method -
f 3§ 9§ ve e ) wewEuaiel @ g @B e B O o @ ol Wi ¥
A A R
(1) JqUTa-2¥e adiepr 2) Sre-uRada-aw adfie
(3) fheR &1 Se-2 TSB! (4) BUEA-CE BT
92. A test that refers no assumption about the shape of the population-distribution is
(1} Non-parametric-test of mean (2) Distribution free test
(3) Runs-test (4) Sign-test
U o 5l A &) wy-Rae @ aR ¥ 599wy @ A $fa T8 axan, S o
* FEA B
(1) 5T BT emTEfee e (2) faeRormt e
(3) =T (4) GgA-CF

93. A tool of statistical analysis that is for the purpose of testing the hypothesi-s of
‘whether the means of several samples have significant difference or not'. That is :

(1) Analysis of variance (2) Wilcoxon-test
(3) Friedman's-test (4) Kruskal-Wallis test
UF SRAN W wiks Rvewwr #1 8, 7F ufieet @ medl /sl F orR @ Aewat
- wg # e § e # o o ?, S wee §
(1) TR Q) R
(3) PRSI (4) BESTA-MR T
MPHDURS-EE-2013/Commerce/(C)
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94. Which one of the f.ollowing' statement is correct ?

95.

(1) 'Operating business environment' is also called micro-business environment
(2) 'Remote environment' is also known as business environment .
{3) M. Porter gave "Rivalry-model” | |
(4} Value activities are of 7 kinds
s 3 e worT e & ? -
(1) ‘wR=rer @aar yaiaRr q&qmmwﬁzﬁqaﬁaw W wEaEr &
) ‘SRET YITRET B ArgEiigs-vatarer & wa # W S oy &
(3) THo R ¥ “wRRTH-Hree R |
(4) Heu-afart W yeR @ e &

According to which view the business is an ecological one ?
(1) Modern view (2) Friedman's view

(3) H.S.Singhania's view (4) Contemporary view

' ﬁmg&aﬁmzﬁaﬂﬂwwqﬁwﬁﬁwﬁfﬁaﬁ%?

" 96.

(1)&@%@&3#1% (Z)WGﬂHEqu&!HﬁW
(3) @owoﬁ?mﬁma}fgf@:aﬂvﬂaﬂﬂw(:;) ARG gRCPIIER B

The Chairman of the Central Consﬁmer Protection Council is the :
(1) Central Minister of Consumer Affairs

(2) The President of India

| (3) The Cha1rman of Federanon of Consumer Productlon Items

(4) The appomted guy by the Central Government’
SR SR ARET HIIRAT H ﬁm‘ﬁﬂ & & -

(1) ST A B BT T

(2) wRA BT IAfT

(3) SUWIHT IEET HEl B B BT WA
(1) = WER g fgw afe

MPHDURS-EE-2013/Commerce/(C)
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a7.

100.

MPHDURS-EE-2013/Commerce/(C)

c -
The Industrial Policy Resolution of April, 1948 contemplated :

(1) Dual economic planning (2) Mixed economy

(3) W.T.O. system "~ {4) Dunkel proposals

o, 1948 o ahefi ARY s % o fn -

(1) <A enfdie Aroersor H1 (2) R seferazer &1

(3) fawg =R w@aw & yomed (4) DA gl P

The period of 2012-2017 is for :
(1) 11th Five Year Plan  (2) 13th Five Year Plan
(3) 12th Five Year Plan (4) 14th Five Year Plan
2012 2017 & 9 rafer 2 - |
(1) 118 vaadg O & fod (2) 1338 daadta AT @ oY
(3) 124\ vgadty I 3 o (4) 1497 dagdig @e & fod
To promote rapid economic development through creation and expansion of v
infrastructure is the objective of : _
(1) Foreign Direct Investors ~ (2) Public Sector : ' ?
(3) Multiretail Investors- (4) Private Sector
T i AP BT FHRE I BT A9 U9 IR @ R SdTE Bl IR
(1) fadd yow e &1 (2) AREE &89 ST
(3) TEgET PRt @ (@) e & w
In India, the Fiscal I’o'licy operates through the :
(1) Planning System
(2) Planning Commission
(3) Central Board of Direct Taxes -
(4) Budget ¥
ey 3 roree- Ay fres aRe ofRerfera & & 2 -
(1) T yomel & SR | 3
(2) T AT & SRy
(3) TEH-TR @ g 9. B WY
(@) T B IRy




